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Fxplain the fanctions of the ALE and 10/ signalé of the 8085 Microprocessor.

Writs at least two examples of each type of mstructions avarlable i 8085
Microprocessar

Wit the Addressing Mode, Bytes, Machine Cyvele, Tstate of the following
metruchens:a [DA address. b IO address.

What will be the execution time of the instmchon TXT H. 2050H7?

Seven channels, sach with 3 20 K3z bandwadth, 2r2 to be multiplexed tozethar What
1= the muntmum bandwidth of the link 1f there 15 a need for a guard band of 10 KHz
between the channels to prevent interference?

What 13 bit padding i TOM?

Differentiate UTP and STP.

Explam witting policies avatlable for Cache Memory
Why DMA 15 required?

10. Witz the disadvantages of Daisy Chaimng



